
Class:Class 4 Subject: Maths Topic:Operation with Numbers

S.No Question Answer Options

1 Subtract : 29350 - 6829 =

22738

22838

22618

22521

22738

22838

22618

22521

2

If there are 2910 sweets in 30 
boxes and if the sweets are 
distributed equally in all boxes, 
how will you find the number of 
sweets in each box.

2910 - 30

2910 + 30

2910 ÷ 30

2910 * 30

2910 - 30

2910 + 30

2910 ÷ 30

2910 * 30
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3 Choose the correct option : How 
many boxes should the third box 
have?

21

20

22

19

21

20

22

19

4

A shopkeeper was packing 3598 
eggs in crates. Each crate 
carries 30 eggs. After filling all 
crates, he kept the rest of the 
eggs for the party. If he sold 
each crate for ₹ 155, how much 
money did he earn by selling all 
the crates? ____________

Answer
____________

Answer
____________

5

State whether this is true or 
false : If 10 pairs of shoes of a 
brand A costs ₹ 8500 and 12 
pairs of brand B cost ₹ 10000, 
then is A cheaper than B.

True

False

True

False
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Correct Answer is
1. Correct Ans option is 22521
2. Correct Ans option is 2910 ÷ 30
3. Correct Ans option is 21
4. Correct Answer is 18445
5. Correct Ans option is False
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